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The diagram shows a plan for
your new garden. You want
to use only 1.5 yd® of topsoil Garden |«

and plan to spread a layer4in [ 2xya 2b94
thick. What are the dimensions | 2-2.4 = Sud
of the largest garden you can Y

. Section 9 -3 . build? Work with a neighbor to try to find a solution.
Solving Quadratic Equations Keys: 1.5 is the volume (lwh). and the depth is given as in not yds.

din _Va, _L.1_ |
Rin = 73,3 3= Ayts
Students will be able to solve quadratic equations by graphing and using
square roots. |.8=2x% X" '/.‘
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Graphing: When solving ax? + bx + ¢ = 0, we are looking for the
values of x that we can plug in and get a 0. This value of O is in
the place of y, so it is actually asking where on a graph is the y

In the last problem, we were modeling the solution with a
quadratic equation, because we knew it was equal to 1.5 and we
ended up with an x2.

value 0. This is the x-intercept.

i ! . ! Example:
-Quadratic equations can be solved using a variety of methods, . .
including graphing and finding square roots. i—ﬂwtfrcepts.

One way is to graph the related quadratic function, x= '1'

ax’+bx+c=0.
The solution of the equation are the x-intercepts of the
function. (Note: there are 2 solutions‘I
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The solutions of the equation and the x -
intercepts of the graph are often called the
roots of the equation or zeros of the function.
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Solve by graphing:
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We said that we could also solve quadratic equations by
taking the square root. This means use order of operations
to get the x? alone, then undo to square by doing the
opposite, square rooting.

. i
Example: Solve: M1= 3(0 M B-b
" e (0=2b

3x°+15=0 (-b\1= Bb
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Solve:

42 + 44 = 80
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The length of a rectangular prism is 3 times the
width. The height of the prism is 5 in. If the
volume of the prism is 80 in®* what is the length of

the prism?
V=Lw-h
80=3w-w S
80~ 15w*
TS _
wi=3D
W =22 .3

L-3w
W= W

k=

width conna- be negufive S0

w=23lin
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L=3w=2(23)=(p T3in
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x*+15=15
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